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R K A B P8 F§ GRO HDCP NET JEfZ K 4 B 7§ FGRO HDCP NET MWERL K 4 B 7§ B GROHDCP NET JEHRL K 4 B P8 FEGRO HDCP  NET
1 EER Exn 41 41 8.4 32.6 52 & B¥F 51 51 13.2 37.8 103 +# HiL 48 48 7.2 40.8
2 EE EA% 44 44 10.8 33.2 53 HEE HE 57 57 19.2 37.8 104 H1g XF 54 54 13.2 40.8
3 GER 7 40 40 6.0 34.0 54 /I EZ 44 44 6.0 38.0 105 K = 54 54 13.2 40.8
4 K g 54 5420.0 34.0 55 HE Eth 44 44 6.0 38.0 106 =MW HH 53 53 12.0 41.0
5 (U 42 42 7.2 34.8 56 REE st 50 50 12.0 38.0 107 mH ¥ 61 61 20.0 41.0
® UA  FEr 39 39 3.6 35.4 57 Tk BE® 56 56 18.0 38.0 108 % i 46 46 4.8 41.2
T IRE R 38 38 2.4 35.6 58 # I 37 37 -1.2 38.2 109 7R IEME 52 52 10.8 41.2
8 B EE 38 38 2.4 35.6 59 |EHE &EF 43 43 4.8 38.2 410 #ERF @ 52 52 10.8 41.2
9B EH 44 44 8.4 35.6 GG |BEE £E) 43 43 4.8 38.2 111 /MU BBA 58 58 16.8 41.2
10 g 44 44 8.4 35.6 6l &if H— 43 43 4.8 38.2 112 *#* Fn— 57 57 15.6 41.4
11 #EE ' 37 37 1.2 35.8 62 [EH HA 43 43 4.8 38.2 113 |uKX H=E 57 57 15.6 41.4
12 A BUA 43 43 7.2 35.8 63 R H— 43 43 4.8 38.2 114 JiE BT 57 57 15.6 41.4
13 &=+ finZ 43 43 7.2 35.8 64 kfm % 43 43 4.8 38.2 115 WA FFE 50 50 8.4 41.6
14 {(FR HE 43 43 7.2 35.8 65 A & 43 43 4.8 38.2 116 HF H— 55 55 13.2 41.8
15 =il Ek 49 49 13.2 35.8 66 |PEIE HE 43 43 4.8 38.2 117 &F 8 60 60 18.0 42.0
16 A i 42 42 6.0 36.0 67 A H 43 43 4.8 38.2 118 BE@ =R 59 59 16.8 42.2
17 Ak g 56 56 20.0 36.0 68 &H =i 55 55 16.8 38.2 119 M4 i 59 59 16.8 42.2
18 & EM 41 41 4.8 36.2 69 HAK BE 48 48 9.6 38.4 T20 A =k 59 59 16.8 42.2
19 g 1) 47 47 10.8 36.2 [0 [ a5 48 48 9.6 38.4 121 #@m ER 52 52 9.6 42.4
‘20 I E— 47 47 10.8 36.2 71 |'B%E & 48 48 9.6 38.4 122 B4: = 57 57 14.4 42.6
21 EHX B 53 53 16.8 36.2 72 B {534 47 47 8.4 38.6 123 #H = 55 55 12.0 43.0
22 PHI AFRB 40 40 3.6 36.4 73 /I FHE 53 53 14.4 38.6 124 ## BT 63 63 20.0 43.0
23 RiE #iE 46 46 9.6 36.4 T4 g4k BT 46 46 7.2 38.8 125 &\|H —{= 61 61 16.8 44.2
24 /b FER 46 46 9.6 36.4 75 |#AF& @EHE 52 52 13.2 38.8 126 RE =W 53 53 8.4 44.6
25 TfE A 46 46 9.6 36.4 76 iRA WiE 52 52 13.2 38.8 127 #&m %= 53 53 8.4 44.6
26 BN 1T 45 45 8.4 36.6 71 HfE AR 52 52 13.2 38.8 128 HYF Hk 63 63 18.0 45.0
207 N = 45 45 8.4 36.6 T8 HEAR E— 58 58 19.2 38.8 129 HERVERZ 71 71 20.0 51.0
28 HX M 45 45 8.4 36.6 79 M & 45 45 6.0 39.0 TISUEROEE 73 73 20.0 53.0
29 {HiE (L 45 45 8.4 36.6 80 EHH =¥’ 45 45 6.0 39.0
30 HEE 51 51 14.4 36.6 81 & B 51 51 12.0 39.0 .

31 f#k Bz 51 51 14.4 36.6 82 fEH# = 56 56 16.8 39.2
32 AKF KB 44 44 7.2 36.8 83 HY B 18 48 8.4 39.6
33 HA EE 50 50 13.2 36.8 84 ¥EH EEH 47 47 7.2 39.8
73 BHE »TH 50 50 13.2 36.8 85 & R 47 47 7.2 39.8
35 /R 43 43 6.0 37.0 86 Il @K% 53 53 13.2 39.8
36 KAk BB 42 42 4.8 37.2 87 ML BB 46 46 6.0 40.0
(37T Wl =RE 42 42 4.8 37.2 88 #AL = 46 46 6.0 40.0
38 A ME 48 48 10.8 37.2 89 A B 16 46 6.0 40.0
39 g EE 54 54 16.8 37.2 9O il ks 46 46 6.0 40.0
40 FE ET 54 54 16.8 37.2 91 MM {EF 52 52 12.0 40.0
41 *L =F 47 47 9.6 37.4 92 i*+ z*x 58 58 18.0 40.0
42 R g 47 47 9.6 37.4 93 Ht &\ 58 58 18.0 40.0
43 HE #® 40 40 2.4 37.6 94 HhE W 45 45 4.8 40.2
44 FAx AB 40 40 2.4 37.6 95 FEL Al 51 51 10.8 40.2
45 [E B 46 46 8.4 37.6 96 TME @&H 57 57 16.8  40.2
46 TR =@ 46 46 8.4 37.6 97 Wn K& 44 44 3.6 40.4
47 KT Hx 46 46 8.4 37.6 98 R HE 50 50 9.6 40.4
48 #F WA 39 39 1.2 37.8 99 {H# =T 50 50 9.6 40.4
49 BE FHH 45 45 7.2 37.8 TOUHEE R 56 56 15.6 40.4
50 JEFE abig 51 51 13.2 37.8 101 WEH 32— 49 49 8.4 40.6
51 |\RE W5 51 51 13.2 37.8 102 Ef% Mk 55 55 14.4 40.6
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